S6287BLK

2015-16 FORD F250/350/450 6.7L POWERSTROKE CREWCAB &
SUPERCAB, DPF BACK, 4" SINGLE SIDE

230256

HWS0001-375
9 HBS0004-012
@ e
HNS0001 —438 =5
HWS0003-438 DETAIL A

A W181386

W181402 W181385-01

B

T5051BLK

TEM PART NUMBER DESCRIPTION $6287BLK/QTY.
1 W181386 4" EXTENSION PIPE ASSY - 2011 6.7L FORD ]
: SHIPPING INFO
2 | W181385-01 4" OVER-AXLE/TAIL PIPE ASSEMBLY ] NEGHT {los) 0
3 | Wisl402 HANGER CLAMP - 4" 1 HEIGHT (in) 0
4 230256 | DURAMAX PARTICULATE FILTER FLANGE GASKET ] LENGTH (in] 20
5 | HBS0004-012 BOLT, HEX, 7/16-14 X 1 1/2"-GR5, IN 3 WIDTH (in) 16
6 | HWS0001-375 WASHER, FLAT, 3/8", ZN 3 s Docermoer 2014
7 | HWS0003-438 WASHER, LOCKING, 7/16", ZN 3 REV:C
8 | HNSO001-438 NUT, HEX, 7/16", ZINC COATED 3
9 | T5051BLK TIP, 4" IN, 5" OD SINGLE WALL TIP ROLLED LIP 1 ALl A




	S6287BLK
	Drawing View26
	Detail View A (1 : 6)


